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     1.
     Is each of the 10 linear stages to have 4 carriages?


     Response:  No. Each stage will have a single carriage.

2. Of the 4 carriages on a single linear stage, are all 4 to be driven by the ball screw, or is one to be driven, and the other three to be floater carriages?

Each stage has only one carriage, which should be a ball screw driver.

3. What is the minimum size of the carriage that would be acceptable for the application?

Response:  4 inch x 4 inches

4. What source of power is available, single or three phase, voltage?

Response:  120 VAC single phase.

5. A conceptual drawing or sketch that shows the mounting arrangement of the 10 stages would be very helpful. Is one available?

See attachment.

6. Are the stages to be mounted horizontally?

Response:  Stages will be mounted both horizontally and vertically.

7. What are the moment loading requirements for carriages?

Response:  It will vary with the application. But we estimate that the maximum loading moment will not exceed 40kg/m. 

8. Do the loadings given apply to each carriage, or would the 4 carriages per slide share them?

Response:   The specification applies to an individual carriage on each stage.

9. What are the environmental conditions where the stages will be located?  Temperature rang? Wet or dirty?

Response:  The system will be located within a wind tunnel, estimated temperature range of 50 to105 degrees Fahrenheit. The wind tunnel is a clean and dry environment. 

10. When more then one axis is driven at a time, will the stages be mechanically tied to one another by a rigid member structure?

Response:  Yes.

11. Would servomotors be accepted in place of stepper type?

Response:  No

12.
What is the speed requirement for each stage?

Response:  Minimum 0f 4 inches per minute.

13. What force must the stages be able to produce in the axial direction?

Response:  Refer to load specifications.

14. When more than one stage is driven, would all 10 be driven at the same all of the time, or any number of stages from 2-10 could be driven.

Response:  A maximum of 4 stages at one time and a minimum of 1 stage at a time will be driven.

15.
When multiple stages are driven, are the all to be driven at the same speed and direction, or is each one to be able to be driven at any speed and direction?

Response:  When multiple stages are tied together they are driven in the same direction and speed.

16.
When multiple stages are driven, is one to be considered the leader axis, and the others to follow in some ratio or relationship to the leader?

Response:  Anticipated applications will not need this feature.

17. Upon power up of the system, can a homing routine be run to reference the stages, or are absolute encoders required? 

Response:  Absolute encoders will increase both the cost and complexity of the system.  Encoders are required for positional feedback. Zero reference will change depending on application.

18. Can the response date for the solicitation be postponed?

Response:  Yes.

